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1) All questions are compulsory. Lo
2) Figures to the right indicate marks. 3 K
3) lllustrations, m-depmanswersanddlagranmmﬂbe appreciated. -
4) Mixing of sub-questions is not allowed. RSP
2 T .
Attempt All (Each of 5Marks) ST vt
Select correct answer from the follqmng'
I‘ g o i

Awmpgthefouuwing (Any THREE) (15M)
- How many haegse; plates can be made using either two letters followed by

four digits or two digits followed by four letters?

Deteumme the coefficient on xy°Z in the expansion of (x + y+ z)’.

For any positive integer n, the sum of squares of the first n positive integers -

i333(“—"'1-1(—2"'—'-tg Prove by first principle of mathematical induction,
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Q, Am?‘ the.f&ﬁmﬁng (Any 1}31{]5]5)
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How many integer- valued solutions are there for ﬂ'lewmm

Xy +%; + X3+ Xg+ %5 =65 ,all x, 20
What is Sudokd Puzzles ? Write its benefits
For each n >0, prove that

(-g)" (D + (\121) =rmp (_l)n—c;) =0
Attempt the following (Any THREE) <
Check whether the followmg graphs are otgh
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(d Define the capacity of cuts. Find the capacity of the cut (P,Q);’ - "k
where P={a, b, g} and Q={d, h, z} SIK
b 4 d

9

@9 IﬂE;*Inﬂﬂahonssho“n‘bek“v \
of two permutations) and i mv é;"f I: :
=023456/8
31582647/ JRXs
® txplam a Complete matching “"t!! ?ﬂfﬂplf” 2
Q.5
(a)
{b)
{0
(d)
(©)

¥ QL S -
It 4
.“;. ok e ok ek ok ok
i T v

EnaaAA L~ _ o



